Geometry — Unit 2 Practice Name: !
Congruence Transformations A
G.C0.B.5, G.CO.B.7 Date: Pd:

Quick Concept: Two shapes are congruent if there is a single or sequence of isometric transformations that
map one onto the other.

1) Show that the given shapes are congruent by determining the isometric transformation that maps
one onto the other.
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2) Determine the coordinate rule and then determine if the triangles are congruent or not.

a) A(-1,4) B(3,0) (4, 3) A’(1, 4) B’(-3, 0) C’(-4, 3)
What is the coordinate rule that maps AABC onto AA’B'C’? W (X,y) — ( , )
What transformation does that represent?
Is AABC congruent to AA’B’C’? Yes / No. Why?

b) A(5,-3) B(-2, 2) c(7,-1) A’(2,-1) B'(-5, 4) C'(4,1)
What is the coordinate rule that maps AABC onto AA'B'C? W (X, y) —( , )

What transformation does that represent?
Is AABC congruent to AA’B’C’? Yes / No. Why?

c) A(0, 6) B(12, -5) Cc(4, -4) A’(6, 0) B’(-5, -12) C'(-4, -4)
What is the coordinate rule that maps AABC onto AA'B'C? W (X, y) —( , )

What transformation does that represent?
Is AABC congruent to AA’B’C’? Yes / No. Why?
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Practice — Unit 2 (cont.)

3) Show that the given shapes are congruent by determining the two isometric transformations that
map one onto the other.
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